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Degree of Consolidation
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Example

Ac =75 kN/n?
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Settlement Under a Foundation

Chapter 9.12

Circular Foundation

q =75 kN/m?

Yy = 16 kN/m*
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2:1 Method

Foundation B X L

2 vertical to
1 horizontal

2 vertical to
1 horizontal
gXBXL

Ao =—"""—
(B+2)(L+2)
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Circular Loaded Area
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2:1 Method

Foundation B X I

2 vertical to [ 2 vertical to
1 horizontal 1 horizontal
: A P
z o = -
(B+ 2L +2)
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Example 9.10

Calculate the primary consolidation settlement of the 3-m-thick clay layer (Figure 9.24)
that will result from the load carried by a 1.5-m square footing. The clay is normally
consolidated. Use 2 : 1 method for calculation of Aa”’

1 890 kN

Footing size
15mx1.5m

Yary = 15.7 kN/m3

_______________ y Gindvater bl

1.5m Year = 18.9 kN/m3

(=173 kKN/m
=10




| 15mx1.5m

Yary = 157 KN/m?

_y Groundwater table

Yoot = 18,9 KN/m?
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